
Reference no/Batch code:

Szerelési útmutató

Montážní návod

Montaj talimati

Montageanleitung

Notice de montage

Handleiding voor de montage

Assembly instructions

Istruzioni di montaggio

Instrukcja montażu

Návod na montáž

Instrucţiuni de asamblare

Инструкция по монтажу

1/6Ver1



A1 x2
M6x50

x2
M6x15x8x16

20100 30 40 50 60 70 80 90 100 110 120 130 140 150

A2 A3

A4

A

B

x2
4mm

x4
Ø28x3

A5

B

B B

x8
M6x70

2/6Ver1



Teil nr.
Pieces Nr.
Pièces Nr.
Stukken Nr.
Pezzi Nr.
Часть №

Anzahl
Quantity
Quantité
Hoeveelheid
Quantità
Количество

Kasten Nr.
Box No.
Boîte non
Doos Nr.
Scatola Num.
Коробка №

Maß, mm
Dimensions, mm
Dimensions, mm
Afmetingen, mm
Dimensioni, mm
Размеры, мм

A 1 1 1600   x    699    x    22

B 4 1 932    x    57    x    57

MMaaxx..
30 kg

3/6Ver1



A1 x2
M6x50

x2
M6x15x8x16

A2 x2
4mm

A5

BB  x2

A1
A2

A5

1 x2

B  

B  

2 x2

4/6Ver1



BB

BB

A

A3 x8
M6x70

A4 x4
Ø28x3

x1
4mm

A5

A3 x4

A3 x4

A4 x2

A4 x2

A3

A5

A4
3

5/6Ver1



$5

6/6Ver1


	Sheets and Views
	T.able Dining table assembly instruction OTTO-Leht 1
	T.able Dining table assembly instruction OTTO-Leht 2
	T.able Dining table assembly instruction OTTO-Leht 3
	T.able Dining table assembly instruction OTTO-Leht 4
	T.able Dining table assembly instruction OTTO-Leht 5

	Blank Page



